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In a carriagel, a chest, or a closet - BD7amY 7a%n TIWR

OVERVIEW

The Xn»71 states that one may enter 777792 X*710 without becoming Xnv. The
XM interprets this to mean that even though the ground of XM10 is Xnov,
nevertheless one may enter 777W2 X°710 provided he enters »"n 77°w2. The
X713 then quotes a Xn*92 in which there is a NP1 between °27 and "2 if
one may enter 777702 QMY YR 1n a ") 77°W, where he is not touching the
ground (7w13) but finds himself in the atmosphere of the 2’y 77X,

The manner in which 2°2¥77 ¥R 97X is X2Y» can be understood in one of two
Wayszz Either, a) because the "X itself is X»v, or b) because it is considered
as if one is being 2°1iX» on the ground of o°nyi yaX. If we assume the former
(a), *27 will maintain that it is 290X to enter 2A¥;7 ¥R in a 77w even if 97X
9aR nw P17 since he is within the 7R of 2onvn R, while "2 will
maintain that since entering in a 77°? is unconventional, there is no N7
XMV on this type of 9MX. Were we to assume the latter option (b), then 27
would maintain that he is &nv, for since 7a& mnw X2 P11 HnK; his body is
being 71x» on 7w, since nothing is separating him from the ground. "2
maintains that 27X 7w P17 2R, therefore there is no 99787 since the 77°W is
separating him from the ground and therefore he is M. Our X773 seems to
follow the second option.

- NP 939 DIYN YINA 19 PRY I 2090 Wi
“""w explains that when we say that one may enter X*110 in a 2733 72°0 77°W
it is only into X710, however in the other gentile countries one may not do
so for he will become X»v even if he enters "21 77°w2, and the Xn>12 that
states that one may enter 777V X0 follows the opinion of %29, who

maintains that in 0¥ Y% one may not enter 21 77°w3, only in X0 is it permitted to
enter "1 77°w2. This concludes s""w7 explanation.

yn

mooIN interprets s™"w7 explanation.

= NPT NTY WI9Y N¥IIY AN
It seems that >"w7 wants to interpret the phrase 21 770 (concerning

' See 7w 71"7 2, Py *"w that it is an enclosed woman’s wagon in the shape of a box.
* See following XX 71"7 '0In.
> arwa .
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entering X’710), to mean specifically 121 779 to the exclusion of all else. The
X713 is teaching that one may enter 777702 X°710, only if he enters »"\n 77°w2.

= D9YN NIND IDIAN 9NV NI NNT NTINY %29 92 YD) 2395 NIPIND 81 XY Y9N
And therefore we cannot establish that the &n»92 follows the opinion of
5'"2%9 for °"2°7 renders one TY even if one enters the gentile countries in a
"2 77°w. The Xn»12 however states that (only) X0 is like °"X that one may enter it
71702, The X703 interpreted the XnN»™12 to mean that one may only enter 77702 X0,
provided if one enters "1 77°w2 exclusively. According to °"2°7 however, there is no
difference between X0 and 2¥77 X concerning entering them 77°w2. In both cases it
would be 7772, This concludes m»do1n understanding of *"wa w17,

mooIN rejects this interpretation.

- VP NPT XY 51 NN DY TN YY XNYT )2 WD D3Na)
It was unnecessary for >"v" to interpret it in this manner; that one may
enter 77702 X710 only in the closed environment of a "1 77°w, for you must
say that ®7a»1 772°n 77°w was not mentioned exclusively in regard to the
manner that one may enter 77792 X0 (as Moo will soon explain and prove). The
reason why the X711 does state that one may enter X110 with a 77w is —

- NI’H23 UPYT DIVN NN
only because that is what the Xn>>92 mentions when it is discussing the np7nn
between "27 and °"2°7. There indeed it is n"in 77w exclusively; for if the person were
exposed to 2°nYT ¥R "X and is ?1R» on the ground everyone would agree that he is nv.

- VYDA Y 2999 1PON 1D NI NN

However concerning X710 the same law will apply if he enters X710 even if

he rides on a horse; he is exposed to the atmosphere and being 7w %y 27Kn,

nevertheless he is 77w, Moo will prove his point that he is 717w even on a 010, and not
only 77°w3, from what >"w" himself states -

- D9V Y913 *9nN MINY RY D11 YN %29 9207 1199

Since 529 maintains that a thrown (movable) tent is not considered a tent

to protect its dwellers from Xm0 as >'"w9 explained. 27 maintains that if one

enters D°2Y7 7YX in a 77°W he is Xnv even though seemingly the 77w is protecting him

from the ARMV of D°»YA ¥R MX. The reason he is Xnv is that since the 77w is being

* This interpretation (that [even] according to 27 one may enter x>0 even on a horse) follows the view that
the D°M¥7 YIR2 9K NRAIW is because he is W 9y 210 (see ‘Overview’ [option (b)]). Therefore if by X0
one can enter 1" 77°w31 (even though he is 2°78%n since 27X W X7 P11 9nR) this proves that in X110 there
was 1no 218n 1°7; obviously one may enter even on a 00. However if we would follow the view that the "X
2°nYT YOR is Xnv on its own (not [only] because of w1 9y 98n [see ‘Overview’ option (a)]), then we can
say that >27 maintains 2aR 7°nw 7 PR and X032 there is no MR NRML T, but there is AR nRM.
Therefore one may enter »"INW31 since 27X 7AW P17 27X but cannot enter 01077 7¥ since he is 7w Py 2787,
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moved® it is called an P17 97X, An P17 97X is not considered an 2% and affords no
protection from ®axm. Therefore according to 21 if you may enter X0 in a 77°W, you
may enter it on horseback; for the 77w offers no more protection from the X0 "X than
riding horseback, since the 77" is an P17 9X.

mooIn will now offer proof from the X 13 itself that one may enter X*110 on horseback.
= 991 R NIMNR DY NIIDAT PIONT NIIMNTI

And as this is evident from that which the X773 concludes that there was
no decree of XMV concerning the air of X>M®. It is obvious since there is no
TRM1Y in the 7"X of X710 one is permitted to enter either in a 77w or on horseback, as long
as he is not touching (or moving) the ground.’

= NYNIN 212) *0Y% %292 )2 ON)
And if this is so, that there is no 7771 on the "X of X110, you become Xnv
only if you touch the ground, then the &n>92 can also follow the opinion of
"9, There is a difference also according to >"2™ between X0 and 2°nya pIX. The

explanation of the Xn™M1is -
= DYDN DY 2599 1IN 11929390 NINVA NY VI NN

And one who desires to enter X710 in a state of 7977% may do so; not only
in a n"n 77w, but rather the XN»721 means he may enter in an open® wagon

or riding on a horse; even though he is exposed to the 1", he is still M -
- NNV DYAYH YINA )3 PRY I
As opposed to entering the 2°»¥77 Y9R in such a manner, where he will
become N»W. In 0°»y7 7IX there was a 77°12 on 77X as well, and since he is exposed to
DAY PR 9K in a 191 PP, he will become “xnv.
= 9910 NNV NP NI 229 1999N) 9INPT NYP PYHN ¥HIYN 19
And indeed there is some support to this view from the language of the
X3, for the X1 states ‘and even %29 does not declare him NX»w etc., only in
oy vX’. The phrase ‘even °277 seems to indicate that this 072 of X0 can follow
even the opinion of °27, who prohibits entering 2°»¥7 YR under any circumstances,
nevertheless in X110 even according to °27 it is possible to enter.
- 590 MVIYD NN 15D 9295 YPIYM)

5 See 11 71"7 2" where he states 12190 nywa'. Others maintain that 27X AW X2 P17 97X even when it is at

rest, as long as it is movable.

% He is still considered 71273 ¥ 277%n even though technically the 77w is between him and the ground.

7 See “Thinking it over’ # 4.

¥ The wagon is open and the person inside can easily be 2>7%» on the ground. See however 7"nx # 84

’ He is being 7w 9y 2mxn.

' The simple meaning of Moo is that if according to *27 who is stricter, one may enter 77702 X>10, then

certainly according to *"2°7 who is more lenient one may enter 77792 X*110. See however following footnote
3
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This indicates that it is more readily understood in accordance with 3''9;
since according to *"1 one may not enter 2°»¥7 X (only) in a conventional manner ( 2317
91 01071 7¥), therefore the differentiation between X710 and %1 X is realized (only) in
a conventional way; as opposed to o,

mooIn will explain why the X713 insisted that the Xn>>72 follows even the opinion of *27.
= 9297 NIYIN Pr0NT DYVN NON NINN XD 92) YD) %295 TN99 Yy 17

However, we are forced to say that this Xn>>72 cannot either follow the
view of >''7 unless we assume the reason that the X773 concludes to satisfy

the X072 according to 529. We cannot establish the Xn*13 according to >3, unless
we establish it according to °27 as well. There is nothing in the leniency of >"2°7 that will
enable us to establish the Xn™ 2 of X710 according to him. We need to rely on the

conclusion of the X3 -
29919 AW Y NIMN DY 19107 DIVN DINIYN NIN NPT

that only in 2°2p77 3R is it forbidden to enter where one is exposed to the

7R for the 0non decreed that both the air and the ground etc., of onyv7 X
is Xnwvn. Therefore according to °27 who maintains that 98 7°nw X2 2171 9aR, he cannot
enter MY ¥OR even 17°w2 since he is exposed to 2°»yi ¥R "X, In X*0 however, were
there is no 77°72 on 77"IX one may enter even on a 00, as long as he does not touch the
ground. Similarly according to °"2>7 he may not enter 2°»¥77 7% when he is exposed to its
7"X, even though he is not touching the ground (like riding a horse). In X*0 however he
may enter in this manner (20 ¥ 2517) since 113 X? on X0 X,

SUMMARY

There is a dispute between *"w7 and Mo0N as to how to interpret the XA
that one may enter 77702 X0 if it is D7) 720 77w, °"WY maintains
(according to mooiNn) that one may enter X0 only in a 77", not NP2, The
xn»12 therefore follows the ruling of *27, not of *"2°7. According to >"2>7 one
may even enter 772 DY 7OX.

MooIN rejects this opinion on the basis that the X713 states that X>102 there is
no 77°1 on 7K therefore one may enter X0 even NP2 or 001 %Y. The

#11.

"If we were to assume that 0¥ 782 the 97K itself is Xnv (not only w1 9y iR 7¥7), and W P17 90N
57X, then perhaps we will assume that in X010 even though there is no 2mR nxmw itself, but there will still
be wa By Pnxn nkmw. The difference then, between &0 and 2°»yn ya& according to 27, can be only
77wa (where he is protected from 7°n&» but not from the MYy 7X), which (a 77°w) is a RMPOW X7 XN,
However, according to >"21 (who can maintain that even 2"W13 it is only a 2°n&» 1°7, but this 17 does not
apply to ¥>0), the difference will be even by 010 (which is m°5w). See 121 "2 ,7"510 ,n"n3 , 7187 X"wAn.
See ‘Thinking it over’ # 1.
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Xn» 72 can follow the view of *"2°7 as well. The only reason the X723 states
that one may enter 77°w32 X>0, is because the Xn>12 which quotes the np17mn
between 27 and *"2°7, states that their NP7 is 77°W2.

THINKING IT OVER
1. The idea that mn¥y 77K % 113 (not [only] 2°7Xn) is more readily
understood according to °27 or according to °"2°77?

2. How can we explain the np1onn between °"2°1 °27 if all were to maintain
DR NRY P11 aR?

3. What are the advantages of s""w7 and mdoIn explanations, respectively?

4. mvoIn proves from the X 3 that one may enter X710 on a 010 since the
x7m3 concludes that 11 89 &K 9.2 Why then was it necessary for mpoIn
previously to bring poof (that one may enter 0107 ¥ X0) from WD
07V1PA that since 2R 7AW K P11 9K, ete.?!

12'See footnote # 7.
3 See 7"nx # 83.
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